BEILFORRD - #BRE (1)
= N # 8 % - # -y ® E 3 x
F a SM7E| S E BiR SM7 E| S FE BiE SM7E|SM6E| #EHE
4AK | 4AXK | #H% x 4AK | 4BX | #% x 4AK | 4AK | & 4vt
HOE OL BB 2,490 2,434 56 2.3 889 1,367 -478 -35.0 35.7 56.2 -20.5
& A & 437 405 32 7.9 77 284 -207 -729 17.6 70.1 -525
% & B 164 132 32 24.2 17 59 -42 -71.2 10.4 44.7 -34.3
2 A # 37 54 -17 -315 2 32 -30 -938 5.4 59.3 -53.9
=] % = 2 1 1 100.0 1 -1/ -100.0 0.0 100.0| -100.0
AT MIBUY
® E B Y 16 15 1 6.7 2 5 -3 -60.0 12.5 33.3 -20.8
w OfE F® L 1 1 0 0.0 0.0 0.0 0.0
AR 1 1 — 17 17 —| 11,7000 —
¥ KR ®m L 1 3 -2 -66.7 0.0 0.0 0.0
m B & L 1 -1| -100.0 26 -26| -100.0 2,600.0 —
#% M P W L 6 6 — 0.0 —
EBEmREL 40 19 21 1105 8 -8| -100.0 0.0 42.1 -42.1
HOE W L 40 44 -4 -9.1 3 19 -16 -84.2 75 43.2 -35.7
I % & L 4 1 3 300.0 1 -1|  -100.0 0.0 1000/ -100.0
B K E R L 3 3 — 0.0 —
2 E ® L 22 41 -19 -46.3 13 24 -11 -45.8 59.1 58.5 0.6
z [2) fth 100 93 7 15 23 109 -86 -78.9 23.0 117.2 -94.2
£ Y B B 590 553 37 6.7 34 7 -37 -52.1 5.8 12.8 -7.0
B & B & 59 25 34 136.0 11 23 -12 -52.2 18.6 92.0 -73.4
el AN O 46 30 16 53.3 2 2 0 0.0 43 6.7 -2.4
B & B &K 485 498 -13 -2.6 21 46 -25 -54.3 43 9.2 -4.9
¥ £ A B 1,463 1,476 -13 -0.9 778 1,012 -234 -23.1 53.2 68.6 -15.4
B 7] & 1 1 0 0.0 2 7 -5 -71.4 200.0 700.0| -500.0
h H & 27 14 13 92.9 25 18 7 38.9 92.6 128.6 -36.0
ATMBLLWL
EE R 5 W
B E b W 4 2 2 100.0 2 2 — 50.0 0.0 50.0
O - = <Y 1 1 0 0.0 4 4 — 400.0 0.0 400.0
El Y 8 7 1 14.3 2 1 1 100.0 25.0 14.3 10.7
[ 5l = 15 28 -13 -46.4 7 7 0 0.0 46.7 25.0 21.7
REZEHR DLW 2 1 1 100.0 1 -1|  -100.0 0.0 1000/ -100.0
B E R BV 113 140 -27 -19.3 35 56 -21 -375 31.0 40.0 -9.0
B oMt 5 65 72 -7 -9.7 6 28 -22 -78.6 9.2 38.9 -29.7
&R BZA S 9 13 -4 -30.8 3 3 0 0.0 33.3 23.1 10.2
BR#HRLS W 8 1 7 700.0 25 -25|  -100.0 00| 25000 -2,500.0
=N 15 41 -26 -63.4 10 26 -16 -61.5 66.7 63.4 33
IEHHL W 35 46 -1 -23.9 4 10 -6 -60.0 11.4 21.7 -10.3
B El E 537 505 32 6.3 468 402 66 16.4 87.2 79.6 76
B & A5 W 50 46 4 8.7 26 18 8 44.4 52.0 39.1 12.9
BB 5 L 3 1 2 200.0 4 -4/ -100.0 0.0 4000, -400.0
Z ) it 570 557 13 2.3 184 406 -222 -54.7 323 72.9 -40.6
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BRLFOHED - BRERKE  (2)

® Z A 8 3 N i &
F a SM7F | FM6E iR SM7FE | FM6E iR SM7E|FH6E iR
4AX | 4AX | AB = 48k | 4AX | AB E 4AX | 4AX | AB x
T 436 508 -72 -14.2 387 424 -37 -8.7 49 84 -35 -41.7
A P 29 38 -9 -23.7 23 35 -12 -343 6 3 3 100.0

% E B 10 10 0 0.0 8 9 -1 -11.1 2 1 1 100.0

2 A # 2 -2|  -100.0 2 -2|  -100.0

=] % = 1 -1|  -100.0 1 -1|  -100.0

AT MIBUY

® E B Y 1 1 0 0.0 1 1 0 0.0

w OfE F® L

AR 1 1 — 1 1 —

¥ KR ®m L 1 -1|  -100.0 1 -1|  -100.0

m B & L

#% M P W L

EBEmREL 4 -4|  -100.0 4 -4|  -100.0

HOE W L 1 5 -4 -80.0 1 4 -3 -75.0 1 -1|  -100.0

I % & L 1 -1|  -100.0 1 -1|  -100.0

B K E R L

2 E ® L 4 7 -3 -42.9 4 7 -3 -42.9

z [2) fth 12 6 6 100.0 8 6 2 33.3 4 4 —
Yy ¥ B 13 32 -19 -59.4 7 18 -11 -61.1 6 14 -8 -57.1

B & B & 4 10 -6 -60.0 4 10 -6 -60.0

el AN O 2 1 1 100.0 2 1 1 100.0

B & B &K 7 21 -14 -66.7 3 8 -5 -62.5 4 13 -9 -69.2
B2 A B 394 438 -44 -10.0 357 371 -14 -3.8 37 67 -30 -44.8

B 7] & 1 1 0 0.0 1 1 0 0.0

#h H & 1 1 0 0.0 1 1 0 0.0

ATMBLLWL

EE R 5 W

"RE R 5 W

O - = <Y 1 1 — 1 1 —

k3 Y 3 3 — 3 3 —

[ 5l = 5 3 2 66.7 5 2 3 150.0 1 -1/ -100.0

REZEHR DLW 1 -1|  -100.0 1 -1|  -100.0

B E R BV 3 5 -2 -40.0 3 2 1 50.0 3 -3|  -100.0

B oMt 5 4 4 — 3 3 — 1 1 —

&R BZA S 2 2 — 2 2 —

BR#HRLS W

=N 2 2 0 0.0 2 1 1 100.0 1 -1|  -100.0

IEHHL W 2 1 1 100.0 2 1 1 100.0

B El E 265 309 -44 -14.2 233 258 -25 -9.7 32 51 -19 -37.3

B & Ao 12 13 -1 -7.7 9 8 1 12,5 3 5 -2 -40.0

BB 5 L 2 -2/  -100.0 2 -2/  -100.0

Z ) it 93 100 -7 -7.0 92 94 -2 -2.1 1 6 -5 -83.3




